CONTRACT NO.
DATE

CONTRACT

WITNESSETH:

The Contractor hereby agrees to complete the work comprising the below referenced improvement as specified in the contract documents, which are officially on file with the Jurisdiction, in the office of the City Clerk. This contract includes all contract documents. The work under this contract shall be constructed in accordance with the SUDAS Standard Specifications, Latest Edition, and as further modified by the supplemental specifications and special provisions included in said contract documents, and the Contract Attachment - Item 1: General, which is attached hereto. The Contractor further agrees to complete the work in strict accordance with said contract documents, and to guarantee the work as required by law, for the time required in said contract documents, after its acceptance by the Jurisdiction.

This contract is awarded and executed for completion of the work specified in the contract documents for the bid prices shown on the Contract Attachment - Item 2: Bid Items, Quantities, and Prices, which were proposed by the Contractor in its proposal submitted in accordance with the Notice to Bidders and Notice of Public Hearing for the following described improvements:

Baseball / Softball Complex Field Turf Independence, Iowa

The Contractor agrees to perform said work for and in consideration of the Jurisdiction's payment of the bid amount of Seven hundred thirty three thousand, three hundred sixty eight and 30/100 dollars (\$733,368.30) which amount shall constitute the required amount of the performance, maintenance, and payment bond. The Contractor hereby agrees to commence work under this contract on or before a date to be specified in a written notice to proceed by the Jurisdiction and to fully complete the project by <u>January 15, 2024</u> and to pay liquidated damages for noncompliance with said completion provisions at the rate of <u>\$500.00</u> for each calendar day thereafter that the work remains incomplete.

IN WITNESS WHEREOF, the Parties hereto have executed this instrument, in triplicate on the date first shown written.

JURISDICTION	CONTRACTOR
By City of Independence, Iowa	Eastern Iowa Excavating & Concrete LLC
(Seal)	B
ATTEST:	Signature
	Owner
A BAT Lam 100 M 2011 Charles and assessment on a	Title
FORM APPROVED BY:	121 Nixon Street SE
	Street Address
	Cascade, Iowa 52033
	City, State, Zip Code
	563-852-5120
	Telephone

CONTRACTOR PUBLIC REGISTRATION INFORMATION To Be Provided By:

1. All Contractors: The Contractor shall enter its Public Registration Number C 0 9 0 0 - 2 3 issued by the Iowa Commissioner of Labor pursuant to Section 91C.5 of the Iowa Code.

2. Out-of-State Contractors:

- A. Pursuant to Section 91C.7 of the Iowa Code, an out-of-state contractor, before commencing a contract in excess of five thousand dollars in value in Iowa, shall file a bond with the division of labor services of the department of workforce development. It is the contractor's responsibility to comply with said Section 91C.7 before commencing this work.
- B. Prior to entering into contract, the designated low bidder, if it is a corporation organized under the laws of a state other than Iowa, shall file with the Engineer a certificate from the Secretary of the State of Iowa showing that it has complied with all the provisions of Chapter 490 of the Iowa Code, or as amended, governing foreign corporations.

NOTE: All signatures on this contract must be original signatures in ink; copies, facsimile, or electronic signatures will not be accepted.

CORPORATE ACKNOWLEDGMENT	
State of lowa)	
State of lowa) SS Dubuque County)	
On this 29th day of September, 20 2 State of lowa personally appearme known, who, being by me duly swo respectively, of the seal affixed there (and sealed) on behalf of the corner	hefore me, the undersigned, a Notary Public in and for the red Chad Demmer and, to orn, did say that they are the Owner, and ne corporation executing the foregoing instrument; that (no seal to is the seal of) the corporation; that said instrument was signed oration by authority of this Board of Directors; thatacknowledged the execution of the of the corporation, by it and by them voluntarily executed.
LYNNE WHITE COMMISSION NUMBER 169232 MY COMMISSION EXPIRES	Notary Public in and for the State of
PARTNERSHIP ACKNOWLEDGMENT	
State of) SSCounty)	
and that are monument was signed on belian	, before me, the undersigned, a Notary Public in and for the ed to me personally known, who being by of the partners of, a partnership, f of the partnership by authority of the partners and the partner at to be the voluntary act and deed of the partnership by it and by
	Notary Public in and for the State of
INDIVIDUAL ACKNOWLEDGMENT State of)	
22 /	
) SS County)	
County)	, before me, the undersigned, a Notary Public in and for the
On this day of, 20 State of, personally appears me known to be the identical person(s)	, before me, the undersigned, a Notary Public in and for the ed and, to named in and who executed the foregoing instrument, and the instrument as (his) (her) (their) voluntary act and deed.
County) On this day of, 20_ State of, personally appeare me known to be the identical person(s)	, before me, the undersigned, a Notary Public in and for the ed and, to named in and who executed the foregoing instrument, and the instrument as (his) (her) (their) voluntary act and deed. Notary Public in and for the State of, 20

CONTRACT - 3

CONTRACT ATTACHMENT: ITEM 2 - BID ITEMS AND QUANTITIES

This contract is awarded and executed for completion of the work specified in the contract documents for the bid prices tabulated below as proposed by the Contractor in its proposal submitted in accordance with notice to bidders and notice of public hearing. All quantities are subject to revision by the Jurisdiction. Quantity changes that amount to 20% or less of the amount bid shall not affect the unit bid price.

This space is provided for the Jurisdiction to list the bid items and cost information from the low bidders proposal.

(See Attached Proposal)

PROPOSAL

PROPOSAL ATTACHMENT: PART C-BID ITEMS, QUANTITIES, AND PRICES

This is a UNIT BID PRICE CONTRACT. The bidder must provide the Bid Price(s), any Alternate Price(s), and the Total of the Base Bid plus any Add-Alternates in this Proposal Attachment: Part C — Bid Items, Quantities, and Prices the total of the base bid plus any alternates selected by the Jurisdiction shall be used only for comparison of bids. The total of the Base Bid plus any Add-Alternates shall be used for determining the sufficiency of the bid security.

<u>No.</u>	Description	Quantity	<u>Unit Price</u>	<u>Total</u>
1.	Mobilization	i Each	Lump Sum	\$ 28,000.00
2.	Construction Entrance	l Each	Lump Sum	§ 1,350.00
3.	SWPPP Management	1 Each	Lump Sum	\$650.00
4.	Remove & Reinstall Chain Link Fence	1 Each	Lump Sum	\$3,850.00
5.	Topsoil - Strip, Stockpile, Respread	650 CY	\$ 23.50	\$ 15,275.00
6.	Excavation	1,842 CY	<u>\$ 11.00</u>	\$20,262.00
7.	Subgrade Preparation	8,433 SY	<u>\$ 1.15</u>	\$9,697.95
8.	PCC Curb, 8"x12", Reinforced	2,348 LF	\$28.25	\$ 66,331.00
9,	2"X6" Landscape Board, Treated	500 LF	\$6.85	\$3,425.00
10.	Geotextile Fabric	9,200 SY	\$2.85	\$_26,220.00
11.	Subdrain, 4" Dia, HDPE, AASHTO M252 Type SP	3,291 LF	\$7.85	\$25,834.35
12.	Subdrain, 6" Dia, HDPE, AASHTO M252 Type CP w/Porous Backfill	2,256 LF	\$ 15.50	\$34,968.00
13.	Subdrain, 8" Dia, HDPE, AASHTO M252 Type CP w/Porous Backfill	1,230 LF	\$15.75	\$19,372.50
14.	CMP Subdrain Outlet, 10" Dia w/Rodent Guard	5 Each	\$645.50	\$3,227.50
15.	Base Stone Class 1 Bedding Material, 4" thick, Iowa DOT Grad #3	8,433 SY	\$5.50	\$46,381.50
16.	Porous Backfill Finishing Stone, 2" thick, Iowa DOT Gradation #29	8,433 SY	\$3.00	\$25,299.00
17.	Nyloplast Drain Basin, 8"x6" w/Drop-in Grate	20 Each	\$805.00	\$16,100.00

<u>No.</u>	<u>Description</u>	Quantity	<u>Unit Price</u>	<u>Total</u>
18,	Nylopiast Drain Basin, 8"x8" w/Drop-in Grate	1 Each	\$ 815.00	\$ 815.00
19,	Intake, SW-512, D2 = 18" w/SW-604 Type 4A Grate	1 Each	\$ 1,300.00	\$ 1,300.00
20.	Erosion Stone	40 Tons	\$ 34.00	\$ 1,360,00
21.	Remove & Replace Sidewalk, 6" PCC	40 SY	§ 67.00	\$ 2,680.00
22.	Remove & Reinstall Backstop Fence	200 LF	\$54.00	\$ 10,800.00
23.	Raise and Reconstruct Dugouts	1 Each	Lump Sum	\$ 8,800.00
24.	Seed, Fertilize, Mulch	2 Acres	<u>\$_4,350.0</u> 0	\$ 8,700.00
25.	Silt Fence for Erosion Control	1,200 LF	\$2.25	\$ 2,700.00
26.	Artificial Grass Field Turf Slim Fit 2"	8,433 SY	<u>\$</u> 41.50	\$ 349,969.50
TOTAL AMOUNT OF BID				\$ 733,368.30